1) which of the following druggs is not used for the treatment of dermatophytosis :-

a) Griseofulvine

b) Clotrimazole

c) Amphotereicine B

d) Etraconazole

e) Lamisil

2) which of the following disease is not diagnosed by serology:-

a) Aspergilosis

b) Candidiasis

c) Mycetoma

d) Rhinosporidiosis

e) Geotrichosis

3) Fungi differ from animals in that,

a) they contain rigid cell wall.

b) They possess no mitochondria

c) They are heterotropic

d) They are eukaryotic

e) They may use O2 for respiration

4) what is the common specimen that is used to diagnose mycotic vaginitis:-

a) Cell wall specimen

b) Blood

c) HVS

d) Biopsy

e) BAL

5) the wrong statement about mycetoma is:-

a) serology is specific

b) can be aquired by surface contact

c) spreads locally

d) treated by anti-fungals or debridment

e) antigen is not available

6) DTM is based on:-

a) resistence to Cycloheximide

b) phenol oxidation

c) neutrients requirement

d) changing PH

e) carbohydrate assimilation

7) the main infection that lead to AIDS discovery was:-

a) oral thrush

b) mold infection

c) zygomycosis

d) blastomycosis

e) bacterial infection

8) PCP is:-

a) Pneumonia

b) Hepatitis

c) Pain cells

d) Pelvic severe disease

e) Septicemia

9) the nodule in Peidra is:-

a) pus accumulation

b) swollen hair cells

c) tissue reaction

d) actual colonies

e) aquired enogenpously

10)the broad specturm anti-funga of these is :-

a) clotrimazole

b) KI

c) Cotrimoxazole

d) Nystatine

e) Caspofungin

11)most common disease caused by cryptococcus neoformans in immun-compromised patients is:-

a) Meningitis

b) Pulmonary infection

c) Skin rashes

d) Pyrexia

e) Hair nodules

12) Resistence to 500Mg Cycloheximide, GTT results, and formation of clamydospores is diagnostic for:-

a) Aspergillous Fumigatus

b) Aspergillous flavus

c) Candida tropicalis

d) Candida albicans

e) Cryptococcus neoformans

